Converting Between ml, cl, 1 and kI (A)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
] — — <]
5 7 2 5 g5 i3 BB 5 2
) g T 2 S: 15 8 E g g
: : ——————— : : > X
G M k h da;y *d ¢ m W n
9 8 7 6 5 4 3 2 0 ) 2 3 4 -5 6 -7 -8 -9
. Convert 0.00045 kL to cL
Convert 0.2852 kL to mL

Convert 50.39 cL to mL

Convert 946 cL to mL

Convert 898 000 000 mL to kL

Convert 3 445 000 L to kL

Convert 444 200 000 mL to L

Convert 18 000cL to L

Convert 2816 000cL to L

Convert 55.35L to mL
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Converting Between ml, cl, 1 and kl (A) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —p X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0.-1 2 3 4 -5 -6 -7 -8 -9
. Convert 0.00045 kL to cL

0.00045kL x 10 X 10 X 10 X 10 X 10 = 45cL

Convert 0.2852 kL to mL

0.2852KkL X 10X 10X 10 X 10 X 10 X 10 = 285 200 mL
Convert 50.39 cL to mL

50.39¢cL X 10 = 503.9mL

Convert 946 cL to mL

946 cL X 10 = 9460 mL

Convert 898 000 000 mL to kL.

898 000 000 mL - 10+10+10+ 10+ 10+ 10 = 898 kL
Convert 3 445 000 L to kL

3445000L - 10+ 10+ 10 = 3445KkL

Convert 444 200 000 mL to L

444 200 000mL - 10+ 10+ 10 =444 200 L

Convert 18 000cL to L

18000cL +-10+10=180L

Convert 2 816 000cL to L

2816 000cL +-10+10=28160L

Convert 55.35 L to mL

55.35L %X 10X%x 10 X% 10 = 55 350 mL
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Converting Between ml, cl, 1 and kI (B)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
] ' — — o

= & ° 3 §i ig EE g £

B g Z & 9, 19 8 E g g

: : ——————— : : > X

G M k h da rd ¢ m M n

9 8 7 6 5 4 3 2 v 0. 2 3 4 -5 -6 -7 -8 -9

. Convert 0.000046 kL to mL

Convert 0.718 L to mL

Convert 0.52cL to mL

Convert 0.0492 L to mL

Convert 67 200 L to kL

Convert 83 000cL to L

Convert 5700 mL to cL

Convert 635 400 000 cL to kL

Convert 35 040 000 mL to kL

Convert 82.61 L to cL
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Converting Between ml, cl, I and k1 (B) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0.-1 2 3 4 -5 -6 -7 -8 -9
. Convert 0.000046 kL. to mL

0.000046 kL X 10 X 10 X 10 X 10 X 10 X 10 = 46 mL
Convert 0.718 L to mL

0.718L X 10X 10 X 10 = 718 mL

Convert 0.52 cL to mL

0.52cL x 10 =5.2mL

Convert 0.0492 L to mL

0.0492L X 10X 10X 10 =49.2mL

Convert 67 200 L to kL

67200L +-10 +10 =10 = 67.2kL

Convert 83 000cL to L

83000cL +-10+10=830L

Convert 5700 mL to cL

5700 mL =+ 10 = 570cL

Convert 635 400 000 cL to kL.

635400 000cL +~10+10+ 10+ 10+ 10 = 6354 kL
Convert 35 040 000 mL to kL

35040 000mL +-10+10+10+10-+ 10+ 10 = 35.04 kL
Convert 82.61 L to cLL

82.61 L X 10X 10 = 8261 cL
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Converting Between ml, cl, 1 and ki (C)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
3] o ] 1 — — o o
< oD o 5 8 D 8 = 3} =
on ] —_— 1 ' — o
) g T 2 S: 15 8 E g g
: : : : ——— : : > X
G M k h da 'd ¢ m M n
9 8 7 6 5 4 3 2 ' 0. 2 -3 4 -5 -6 -7 -8 -9
. Convert 6486 cL to mL
Convert 760 mL to L

Convert 0.3264 kL to cL

Convert 5033 000cL to L

Convert 97 570 000 mL to L

Convert 0.049 cL to mL

Convert 0.000598 kL. to mL

Convert 0.00000789 kL. to mL

Convert 29 560 000cL to L

Convert 4 367 000 L to kL
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Converting Between ml, cl, 1 and kl (C) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 % o 5§ §: g EE 3 z
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 6486 cL to mL

6486 cL X 10 = 64 860 mL

Convert 760 mL to L

760mL +-10=+-10+10=0.76 L

Convert 0.3264 kL to cL.

0.3264KkL X 10X 10 X 10 X 10 X 10 = 32 640cL
Convert 5033 000cL to L

5033000cL +10+10=50330L

Convert 97 570 000 mL to L

97570000 mL =-10+10+10=97 570 L

Convert 0.049 cL to mL

0.049cL x 10 = 0.49 mL

Convert 0.000598 kL. to mL

0.000598 KL X 10 X 10 X 10 X 10 X 10 X 10 = 598 mL
Convert 0.00000789 kL. to mL

0.00000789 kL X 10 X 10 X 10 X 10 X 10 X 10 = 7.89 mL
Convert 29 560 000cL to L

29560 000cL =10 +10 =295600L

Convert 4 367 000 L to kL

4367000L +-10+10 =10 = 4367kL
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Converting Between ml, cl, 1 and kil (D)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< o 1 1 — — e
3y % 2 5 8 13 E 2 5 s
B S Z =2 wi: +o 8 E S S
: : ——————— : : > X
G M k h da! :d ¢ m W n
9 8 7 6 5 4 3 2 ' 0.-1 2 3 4 -5 6 -7 -8 9
. Convert 7460 cL to L
Convert 706 000cL to L

Convert 22 490 000 mL to kL

Convert 8 500 000 L to kL

Convert 7.7 L to mL

Convert 8 001 000 mL to L

Convert 840.2 cL to mL

Convert 19 260 cL to mL

Convert 4.877 kL to cL.

Convert 0.0008221 kL. to mL
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Converting Between ml, cl, I and k1 (D) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
& E T 2 5 135 8 E E z
— < : - : : —» X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1 E 0,-1 2 -3 4 -5 -6 -7 -8 -9

1. Convert 7460cL to L
7460cL +-10=10=74.6 L
2. Convert 706 000 cL to L
706 000cL =~ 10+ 10 = 7060 L
3. Convert 22 490 000 mL to kL.
22490 000mL -10+10+10+10+ 10+ 10 = 22.49KkL
4. Convert 8 500 000 L to kL
8 500 000L + 10 =10 + 10 = 8500 kL
5. Convert 7.7 L to mL
7.7Lx10X%x 10 %X 10 = 7700 mL
6. Convert 8 001 000 mL to L
8001 000mL +-10-+10-+10=8001L
7. Convert 840.2 cL to mL
840.2cL X 10 = 8402 mL
8. Convert 19 260 cL to mL
19 260cL X 10 = 192 600 mL
9. Convert 4.877 kL to cL
4.877kL X 10X 10X 10 X 10 X 10 = 487 700 cL
10. Convert 0.0008221 kL to mL
0.0008221 kL X 10 X 10 X 10 X 10 X 10 X 10 = 822.1 mL
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Converting Between ml, cl, 1 and kI (E)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!5'_a_s_e
% P o § gt ig g = 5 g
) g T 2 S: 15 8 E g g
: : ———t—t—t— : : > X
G M k h da t'd ¢ m M n
9 8 7 6 5 4 3 2 :OE 2 3 4 5 -6 -7 -8 -9

. Convert 5941 000mL to L

Convert 0.0016 kL to cL

Convert 54 860 000 mL to kL

Convert 0.555L to cL

Convert 96 000 mL to cL

Convert 9.85cL to mL

Convert 39.39kL to L

Convert 850 000 mL to L

Convert 0.754 L to cL

Convert 2 207 000 000 mL to kL
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Converting Between ml, cl, 1 and kI (E) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
B E T 2 35 13 8 E E z
: : - : : —» X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9

. Convert 5941 000mL to L

5941 000mL +-10+10+-10=5941L

Convert 0.0016 kL to cL

0.0016 KL X 10 X 10 X 10 X 10 X 10 = 160 cL

Convert 54 860 000 mL to kL.

54860 000mL ~10+10+10+10+10+10 = 54.86 kL
Convert 0.555 L to cL.

0.555L X 10X 10 = 55.5cL

Convert 96 000 mL to cL

96 000 mL + 10 = 9600 cL

Convert 9.85 cL to mL

9.85¢cL X 10 = 98.5mL

Convert 39.39kL to L

39.39kL X 10X 10 X 10 =39390L

Convert 850 000 mL to L

850000mL +-10+10+10=850L

Convert 0.754 L to cLL

0.754 L X 10X 10 = 754 cL

Convert 2 207 000 000 mL to kL

2207 000000mL -10+10+10+10+10+ 10 = 2207kL
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Converting Between ml, cl, 1 and kI (F)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 3 e § 5 ig E 2 :
& g T 2 S: 15 8 E g g
: : ———t—t—t— : : > X
G M k h da 'd ¢ m M n
9 8 7 6 5 4 3 2 :051-2 3 4 5 -6 -7 -8 -9

. Convert 8.372 L to mL

Convert 170 000cL to L

Convert 890 000 mL to kL

Convert 919 mL to cL

Convert 95L to cL

Convert 0.657 cL to mL

Convert 505.4KkL to L

Convert 239 500 000 mL to kL

Convert 56 000 mL to L

Convert 0.0000096 kL to cL
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Converting Between ml, cl, | and kl (F) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o Q S = o
: : - : : —» X
G M k h da 'd ¢ m [ n
9 8 7 6 5 4 3 2 1i10i-1 2 -3 4 -5 6 -7 -8 -9
. Convert 8.372 L to mL
8.372L X 10X 10 X 10 = 8372 mL
Convert 170 000cL to L
170 000cL +-10+10=1700L
Convert 890 000 mL to kL
890000 mL -10+10+10+10+ 10+ 10 = 0.89kL
Convert 919 mL to cL
919 mL + 10 =91.9cL
Convert 95 L to cL

95L X 10X 10 = 9500 cL

Convert 0.657 cL to mL

0.657cL X 10 = 6.57mL

Convert 505.4 KL to L

505.4kL x 10 X 10 X 10 = 505400 L

Convert 239 500 000 mL to kL.

239 500 000mL -10+10+10+10+ 10+ 10 = 239.5kL
Convert 56 000 mL to L

56000mL +-10+-10+-10=56L

Convert 0.0000096 kL to cL

0.0000096 kL X 10 X 10 X 10 X 10 X 10 = 0.96 cL
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Converting Between ml, cl, I and kil (G)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!5'_a_s_e
% P o § gt ig g = 5 g
) g T 2 S: 15 8 E g g
: : ———t—t—t— : : > X
G M k h da t'd ¢ m M n
9 8 7 6 5 4 3 2 :OE 2 3 4 5 -6 -7 -8 -9

. Convert 15 540 000 000 mL to kL

Convert 612 000 mL to cL

Convert 0.09696 kL. to L

Convert 7.939 L to cL

Convert 4820 mL to L

Convert4.1 L to mL

Convert 0.082 L to cL

Convert 2 494 000 mL to cL

Convert 0.00000082 kL. to mL

Convert 9 970 000 cL to kL
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Converting Between ml, cl, 1 and kI (G) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
& g T 2 <5 1o 8 E g g
— < : - : : —» X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1:0:-1 2 3 4 -5 -6 -7 -8 -9

1. Convert 15 540 000 000 mL to kL
15 540 000 000 mL +- 10 +10+10+10+ 10 =10 = 15 540kL
2. Convert 612 000 mL to cL
612 000 mL = 10 = 61 200 cL
3. Convert 0.09696 kL to L
0.09696 KL X 10 X 10 X 10 = 96.96 LL
4. Convert 7.939 L to cL
7.939L X 10X 10 = 793.9cL
5. Convert 4820 mL to L
4820mL +-10+10+10=4.82L
6. Convert 4.1 L to mL
41LX10Xx10x 10 =4100mL
7. Convert 0.082 L to cL.
0.082L x10x 10 =8.2cL
8. Convert 2 494 000 mL to cL
2494 000 mL = 10 = 249 400 cL
9. Convert 0.00000082 kL to mL
0.00000082 kL X 10 X 10 X 10 X 10 X 10 X 10 = 0.82 mL
10. Convert 9 970 000 cL to kL
9970000cL +-10+10=+10+10 =10 = 99.7kL
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Converting Between ml, cl, I and k1 (H)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
1 — — o
S & ° 3 §i ig EE g £
‘B S 2 = S :% 8 E g o
: : : : ——— : : > X
G M k h da rd ¢ m U n
9 8 7 6 5 4 3 2 0 2 3 4 -5 6 -7 -8 9
. Convert 0.00025 L to mL
Convert 59 480 cL to mL

Convert 4 530 000 mL to kL

Convert 6 063 000cL to L

Convert 159 L to cL

Convert 0.0007104 kL to mL

Convert 8 420 000 cL to kL

Convert 1 400 000 L to kL

Convert 9190 mL to L

Convert 0.45cL to mL
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Converting Between ml, cl, 1 and k1l (H) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 2 = = o
: : - : : —» X
G M k h da 'd ¢ m [ n
9 8 7 6 5 4 3 2 1i10i-1 2 -3 4 -5 6 -7 -8 -9
. Convert 0.00025 L to mL
0.00025L X 10X 10X 10 = 0.25mL
Convert 59 480 cL to mL
59 480 cL X 10 = 594 800 mL
Convert 4 530 000 mL to kL
4530000mL +~ 10 =10 = 10 + 10 = 10 = 10 = 4.53kL
Convert 6 063 000cL to L
6063 000cL +-10+10=60630L
Convert 159 L to cLL

159L x 10 % 10 = 15900cL

Convert 0.0007104 kL to mL

0.0007104 kL X 10 X 10 X 10 X 10 X 10 X 10 = 710.4 mL
Convert 8 420 000 cL to kL

8420000cL +~10+10+10+10 =+ 10 = 84.2kL
Convert 1 400 000 L to kL

1400000L - 10+ 10+ 10 = 1400 kL

Convert 9190 mL to L

9190 mL +-10+10+10=9.19L

Convert 0.45 cL to mL

0.45cL x 10 =4.5mL
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Converting Between ml, cl, 1 and kI (I)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
] ' — — o

S & ° 3 §i ig EE g £

‘B S Z 2 3 S S 8 E g o

: : —— : : > X

G M k h da 'd ¢ m % n

9 8 7 6 5 4 3 2 1 0 . 2 3 4 -5 6 -7 -8 -9

. Convert 440 mL to cL

Convert 55 400 000 cL to kL

Convert 0.6462 L to cL

Convert 0.00000032 kL to mL

Convert 59 900 000 mL to L

Convert 0.8377 kL to L

Convert 0.00392 kL. to mL

Convert 953 600 mL to cL

Convert 286 700 000 mL to L

Convert 0.368 L to cL
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Converting Between ml, cl, 1 and kI (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5, b 2 g §: i3 E = 3 £
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:0:-1 2 3 4 -5 -6 -7 -8 -9
. Convert 440 mL to cL

440 mL + 10 = 44 cL

Convert 55 400 000 cL to kL

55400000cL -10+10+10+ 10+ 10 = 554 kL
Convert 0.6462 L to cLL

0.6462L X 10 X 10 = 64.62 cL

Convert 0.00000032 kL. to mL

0.00000032kL X 10 X 10 X 10 X 10 X 10 X 10 = 0.32 mL
Convert 59 900 000 mL to L

59900 000 mL =+ 10+ 10+ 10=59900L

Convert 0.8377KkL to L

0.8377KkL x 10X 10 X 10 = 837.7 L

Convert 0.00392 kL to mL

0.00392KkL X 10 X 10 X 10 X 10 X 10 X 10 = 3920 mL
Convert 953 600 mL to cL

953 600 mL + 10 = 95 360 cL

Convert 286 700 000 mL to L

286 700 000 mL - 10=+10+10 =286 700 L
Convert 0.368 L to cLh

0.368 L X 10 X 10 = 36.8cL
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Converting Between ml, cl, 1 and k1 (J)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
3] o ] ' — — e o
cvs 20 o © 8' 35 & = 9 =
5 : z 2 8 188 E z :
: : : : ——— : : > X
G M k h da rd ¢ m M n
9 8 7 6 5 4 3 2 1:0:i-1 2 3 4 5 -6 -7 8 9
. Convert 826 000cL to L
Convert 8 294 000 mL to cL
Convert 0.445 L to cL
Convert 0.06987 kL to mL
Convert 0.07313 L to mL
Convert 0.074 kL to cL

Convert 108 400 000 mL to L

Convert 77 000 000 mL to kL

Convert 7 707 000 mL to cL

Convert 96.38 kKL to L
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Converting Between ml, cl, 1 and kl (J) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
By 8 R R 2 o
: : - : : —» X
G M k h da 'd ¢ m [ n
9 8 7 6 5 4 3 2 1i10i-1 2 -3 4 -5 6 -7 -8 -9
. Convert 826 000cL to L
826 000cL - 10+ 10 =8260L
Convert 8 294 000 mL to cL
8294 000 mL + 10 = 829 400 cL
Convert 0.445 L to cL
0.445L X 10X 10 =44.5cL
Convert 0.06987 kL to mL
0.06987KkL X 10 X 10 X 10 X 10 X 10 X 10 = 69 870 mL
Convert 0.07313 L to mLL
0.07313Lx10x 10 x 10 = 73.13mL
Convert 0.074 kL to cL

0.074KkL x 10 X 10 X 10 X 10 X 10 = 7400 cL
Convert 108 400 000 mL to L

108 400 000 mL =10+ 10+ 10 = 108 400 L

Convert 77 000 000 mL to kL

77 000 000mL +-10+10+10+10+ 10+ 10 = 77kL
Convert 7 707 000 mL to cL

7 707 000 mL + 10 = 770 700 cL

Convert 96.38 kKL to L
96.38kL. X 10x 10X 10 =96 380L
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